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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Wﬁﬁw:

(i) @t geT 3HarT 8 1

(ii) ST YHT-YTH30 J97 & 51 TR @USl — 37, §, T IN 7 7 [q95ia & |

(iii) @US 37 H Uh-Ueh 37 a1 6 J97 8 | @S § H 6 Y97 & 579 @ I 2 37 &7 & |
TGS G H 10 97 @IT-AT 3Hhl 5 & | G T H8 Io7 8 577 G I dFH 4 3% T & |

(iv) J9797 H &Is GHT faheq &1 & | d¥ifd 1 3% arcd 2 941 H, 2 371 arcd
2 Y991 7, 8 3] arct 4 ¥ F 34 371 Gt 3 Fo1 H SR fasheq Y 4T 7@
g 1 08 371 4 37791 13U 7T [kl § & @acT U I97 5 HET E

(v) FAPA F JTIT F FFT T E |

General Instructions :

(i) All questions are compulsory.
(it)  The question paper consists of 30 questions divided into four sections —
A, B, C and D.

(iit) Section A contains 6 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 8 questions of 4 marks each.

(iv)  There is no overall choice. However, an internal choice has been provided in
two questions of 1 mark each, two questions of 2 marks each, four questions of
3 marks each and three questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v) Use of calculators is not permitted.

Qs A

SECTION A

97 G&IT1 G 6 T e Fo7 1 37 H & |
Question numbers 1 to 6 carry 1 mark each.

1. Ife 7.9, (HCF) (336, 54) = 6 7, df @1.9. (LCM) (336, 54) FTd shifSTT |
If HCF (336, 54) = 6, find LCM (336, 54).

2. fgama st 2x% — 4x + 3 = 0 Al hl Tehid 1A HINT |
Find the nature of roots of the quadratic equation 2x2 —4x + 3 = 0.

3. THR I 1, 3_a, 3;2a,...(a¢0)%1%mma‘ A= 19 hIfsre |
a

a 3a
Find the common difference of the Arithmetic Progression (A.P.)

1 3—a 3-2a

, , ,... (@a#0)
a 3a 3a
4. HHE M :
sin? 60° + 2 tan 45° — cos? 30°
IToraT
2
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Ife sinA:%%,?ﬁsecAWW |

Evaluate :
sin? 60° + 2 tan 45° — cos? 30°
OR

If sin A = %, calculate sec A.

x-31q R & farg P & e fafaw st fog A- 2, 0) 9o fog B(6, 0) &
U gt WA |

Write the coordinates of a point P on x-axis which is equidistant from the
points A(- 2, 0) and B(6, 0).

A 1 H, ABC U wuigarg Bys & 5@ o C @wehlor g ao
AC=4cm?a | AB®H o« Fd HIfT |
A

AN

STHIT 1
arerat

(T 2 W, DE || BC g | Y51 AD i @&s §1d hifSlC S&fh o T &
AE = 1-8 9ft, BD = 7-2 9} 9211 CE = 5-4 9 |

In Figure 1, ABC is an isosceles triangle right angled at C with

AC =4 cm. Find the length of AB.
A

AN

Figure 1
OR
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In Figure 2, DE || BC. Find the length of side AD, given that AE = 1-8 cm,
BD =72 cm and CE = 54 cm.

Figure 2

wus d
SECTION B

Jo7 GEIT 7 & 12 T FeAP T F 2 3F 8 |
Question numbers 7 to 12 carry 2 marks each.

7.

I8 gew DI T fafae S 306 9t 657 g1 & quiaan faafoa & |
Write the smallest number which is divisible by both 306 and 657.
x 3 y § T Hag G HINT qIfeh fog A(x, y), B(—4, 6) T2 C(-2, 3) T
Gl
HAAAT
38 PIgs 1 8aa 31 shifte frEes s (1, - 1) (-4, 6)de1 (- 3,-5) 7 |

Find a relation between x and y if the points A(x,y), B(—4, 6) and
C(- 2, 3) are collinear.

OR
Find the area of a triangle whose vertices are given as (1, — 1) (- 4, 6) and
(- 3,-5).

T IR T had Hict, et a1 & & & | 39 IR H ¥ I1gesd] Th A1dl & o
ﬁwﬁﬁuﬁw%%am?ﬂﬁwﬁﬁ@%m el oh ATGTSAT THehTer hi
uﬁwi% |9 SRH 11RO % H O, @ TR et S ) gen we
HIT |

The probability of selecting a blue marble at random from a jar that

contains only blue, black and green marbles is l The probability of
selecting a black marble at random from the same jar is i If the jar

contains 11 green marbles, find the total number of marbles in the jar.

1301211 | 4
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10.

11.

12.

13.

k o Topt 7T (Topm ) o Totu fo wreftentont & g o1 e 31fgd ™ & %

x+2y=5 3N 3x+ky+15=0

Find the value(s) of k so that the pair of equations x + 2y =5 and

3x + ky + 15 = 0 has a unique solution.

T HYLH HIVT T F FS HIV T HE BI HI0 & AH & 18° 1Mk 7 | GHI <hivl
% O 3T HIfST |

the angles.

FrTT
gitd 1 1Y 35k 9 I Y I A4 A 7 | 9i9 9N & a1g, IGeh! Y A
o i AP HT G131 & AN | 36 FHT GHd hT 7Y foha a9 7 ?

The larger of two supplementary angles exceeds the smaller by 18°. Find

OR

Sumit is 3 times as old as his son. Five years later, he shall be two and a

half times as old as his son. How old is Sumit at present ?

T SRERT s %1 Igae F1d I

I IS :

25-30

30 -35

35— 40

40 — 45

45 - 50

50 — 55

IRERAT

25

34

50

42

38

14

Find the mode of the following frequency distribution :

Class Interval :

25-30

30 - 35

35 —-40

40 — 45

45 -50

50 — 55

Frequency :

25

34

50

42

38

14

T B |

Qs g
SECTION C
o7 &7 13 & 22 T JAH T4 F 3 3% 8 |
Question numbers 13 to 22 carry 3 marks each.

fag hifst 6 2 + 53 T ufmy g @, fear mn @ f6 V3 s sruimw

3AYAT
fFeAg UeIed o T & 2048 T 960 1 7.9, (HCF) F1d HifT |

Prove that 2+ 5+/3 is an irrational number, given that +/3 is an
irrational number.

OR

5
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14.

15.

16.

Ul BC W T & 0% g {9 st ABC @91 DBC sHTC T § | Afg AC qen
BD U& g8t ! fog P W whi=ag i &, af fag Hife 6
AP x PC = BP x DP.

YA
T guae PQRS f&H PQ || RS 2, % foehol e fog O W wfresg 1t & |
Ife PQ = 3RS &I, dl st POQ @M ROS % &%l 3l STIHTT T il |
Two right triangles ABC and DBC are drawn on the same hypotenuse BC

and on the same side of BC. If AC and BD intersect at P, prove that
AP x PC = BP x DP.

OR

Diagonals of a trapezium PQRS intersect each other at the point O,
PQ || RS and PQ = 3RS. Find the ratio of the areas of triangles POQ and
ROS.
3hfd 3 H, PQ AT RS, O &g aTal fhdl g9 W & THIR TRI@T § 3R
e} forg C W T99it@1 AB, PQ %! A @21 RS &I B W Yid=sg =l 7 | fog
i 6 £ AOB=90°% |

P

D AQ

Py
—>

0)

E B
5 3
In Figure 3, PQ and RS are two parallel tangents to a circle with centre O

and another tangent AB with point of contact C intersecting PQ at A and
RS at B. Prove that £ AOB = 90°.

P D 4Q

R

0

& " ®-
y 4 b

R E B S
Figure 3

@I x — 3y = 0 Tolg3HT (- 2, — 5) AT (6, 3) I SIS AT {WTES I foh¥ U
7 T st @ 2 39 ideog fomg o Faeme o Jra il |
Find the ratio in which the line x — 3y = 0 divides the line segment

joining the points (— 2, — 5) and (6, 3). Find the coordinates of the point of
intersection.

1301211 | 6
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17.

18.

HH T I

[3 sin 43°j2 B cos 37° cosec H3°

cos 47° tan 5° tan 25° tan 45° tan 65° tan 85°
Evaluate :
3 sin 43° 2 B cos 37° cosec H3°
cos 47° tan 5° tan 25° tan 45° tan 65° tan 85°

I 4 H, T I o =9gATs OPBQ  3Tdd T ol OABC &1 g1 3 | A
OA = 15 &1t 3, a1 SHITfehd & T &A% T I | (7 = 3-14 T HIfQ)

O
ST 4
Heran
epid 5 H, 22 ¥ Y1 drem a7 ABCD T 9d o 3aiid -1 g3 2 |
DAThd & 1 &FhA I BT | (7 = 3-14 TAT HIfST)

In Figure 4, a square OABC is inscribed in a quadrant OPBQ. If
OA = 15 cm, find the area of the shaded region. (Use n = 3-14)

https://toppersacademy.app/
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In Figure 5, ABCD is a square with side 2+/2 cm and inscribed in a circle.
Find the area of the shaded region. (Use m = 3-14)

Figure 5

19. TH 3 Jc oh 3RhR 1 & T8 gHI TR AGMATHR & | 318 hl Fa awaTg
20 THt g AT 9T B ™ 7 GH g | 3 H A A A T |

(r = 22 i i)

A solid is in the form of a cylinder with hemispherical ends. The total
height of the solid is 20 cm and the diameter of the cylinder is 7 cm. Find

the total volume of the solid. (Use t = %)
20. = fean gam sied 100 foramieRi gru weh adien | W 3fehi i g3 @I 2 ¢

JTCdTeh : 30-35|35-40 | 40-45 | 45-50 | 50-55 | 55 -60 | 60 — 65
[EEUERIE)]
. 14 16 28 23 18 8 3
HET :
fornfeRn o wiex 31 F1a HIfT |
The marks obtained by 100 students in an examination are given below :
Marks : 30-35|35-40 | 40-45 | 45-50 | 50 -55 | 55 -60 | 60 — 65
Number of
14 16 28 23 18 8 3
Students :

Find the mean marks of the students.

21. k% fore o o foQ, s|ge
fx) = 3x*—ox3 + x%2 + 15x + Kk,

3x% — 59 quiqan fauTia g g 2

Jrqa
fgama sg9g 7y? - %y —g % I [ATT T 3R I[Iehi qAT UM & o
% TEY hl TIdT I I hIFY |
130/2/1 8
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For what value of k, is the polynomial
fix) =3x* - 9x% + x% + 15x + k

completely divisible by 3x2-57

OR

Find the zeroes of the quadratic polynomial 7y2 - Ey - % and verify

3
the relationship between the zeroes and the coefficients.

22. po @ ot 99 faRew f fgoma afeptor x2 + px + 16 = 0 & TS A
B | T AefieRT o gt [ i |

Write all the values of p for which the quadratic equation x2 + px+16=0
has equal roots. Find the roots of the equation so obtained.

@ us 3
SECTION D

J97 GEIT23 G 30 TF I9F G & 4 3IF &8 |

Question numbers 23 to 30 carry 4 marks each.

23. AR foret By i ok g & TR o @ qeeT &l fim-fim fage w
yfeeag 0 & e weh @ gi=h s, qt fag s 6 3 o= 31 ot we &
g § fawfoa & St 8 |
If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, then prove that the other two sides are
divided in the same ratio.

24. 3G S T Tk gHAA IHH W @1 7, I ¥ 200 H. g ISd Y UE H
39 HIU 30° UTAT 7 | €9k St T 50 M. = wa i Ba W @I 7, 34T veft
T IAIT IV 45° 91T B | a3 daes gaft & foodiq feam 4 € | o @
efl <t glt ST <hIT |

Amit, standing on a horizontal plane, finds a bird flying at a distance of
200 m from him at an elevation of 30°. Deepak standing on the roof of a
50 m high building, finds the angle of elevation of the same bird to be 45°.
Amit and Deepak are on opposite sides of the bird. Find the distance of
the bird from Deepak.

9 P.T.O.
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25.

26.

27.

AR o Th 319 @Y | 220 Tfi S8 & Teh S [SHeh 3MYR i 919 24 T
2, & ST 60 G ST 1 Ueh 3 g JLARUG & fogehl Bream 8 ot 7 |
3 @Y 1 YR [1d shifoe, Sefes foar mm § f5 1 o9 9t g <1 a9 ¥R
8 M 2 | (=314 T shif)

A solid iron pole consists of a cylinder of height 220 cm and base diameter
24 cm, which is surmounted by another cylinder of height 60 cm and

radius 8 cm. Find the mass of the pole, given that 1 cm?® of iron has
approximately 8 gm mass. (Use n = 3-14)

5 Gt ST a1t FHETg BrYS ABC i T I | T T o By ot T
@ﬁqﬁaﬁgmﬁﬁqgﬁgaABcaawwaﬁaﬁgﬁa|

AT
2 Tt BreAn W g9 W 5 EH BT 1 U Eehegl 99 @ieT | 9 949 W A
T T fog P ¥ B g9 W & TRI-@IsTl PA @1 PB W w1 HINT |
PA %! @&Tg AT |

Construct an equilateral A ABC with each side 5 cm. Then construct

another triangle whose sides are % times the corresponding sides of

A ABC.

OR

Draw two concentric circles of radii 2 cm and 5 cm. Take a point P on the
outer circle and construct a pair of tangents PA and PB to the smaller
circle. Measure PA.

frafafad 97 1 9 w0 g & " § defau 3T R 3geht arur Eifew .

T IAA : (3040 40-50| 50—60 | 60 —70 | 70 —80 | 80 — 90 |90 — 100

ERCIEG IR 7 5 8 10 6 6 8

Change the following data into ‘less than type’ distribution and draw its
ogive :

Class
Interval :

Frequency : 7 5 8 10 6 6 8

1301211 | 10
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28.

29.

30.

forg shifsre fop -

tan 6 N cot O
1—cotO 1—tan©

HAAT

= 1+ sec O cosec 0

fag shifsre fo -

sin O _ 9. sin O
cot O + cosec O cot O — cosec O
Prove that :
tan 0 + cot 0 = 1+ sec O cosec0
1—cotO 1—tan©O
OR
Prove that :
sin 0 sin 0
= 2+
cot O + cosec O cot O — cosec O

U Il —7, —12, —17, —22, ... I HI9-G1 Ug —82 BT ? T —100 FH TR
€1 T IS U BT ? FHNUT I TSy |

YT
AT A 45, 39, 33, ... o fehdd UQl 1 ANTHA 180 BN ? Cral STl <hl
AT HIT |

Which term of the Arithmetic Progression -7, —12, —17, -22, ... will be
—82 ? Is —100 any term of the A.P. ? Give reason for your answer.
OR

How many terms of the Arithmetic Progression 45, 39, 33, ... must be
taken so that their sum is 180 ? Explain the double answer.

&=t qem TSt <t e wlien H 3160 &k UTH 3R T AT 30 B | A 3T
et & 2 31 2iferh Brd R ST U 3 37 HH B, Al ATH 3Rl H1 UHGA
210 BIAT | QT Tl § 35k GRT JTH 37ehi ohl AT hITIT |

In a class test, the sum of Arun’s marks in Hindi and English is 30. Had

he got 2 marks more in Hindi and 3 marks less in English, the product of
the marks would have been 210. Find his marks in the two subjects.

11
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